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INTERMEDIATE EXAMINATION – 2023 (ANNUAL) 

AGRICULTURE (ELECTIVE) 

 

I.Sc. (THEORY/ )  

 

Total no of questions: - 70+20+6= 96   Total No. of Printed Pages :-

    Time: 3 Hours 15 Minutes            
 

Full Marks
 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk dzekad ¼10 vadks dk½ vo’; 

fy[ksaA 

Candidate must enter his / her Question Booklet Serial No. (10 Digits) 

in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 

practicable. 

3- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

Subject Code :- 120 
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4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k 

x;k gSA 

15 minutes of extra time has been allotted for the candidate to read 

the questions carefully. 

 ;g iz’u&i= nks [k.Mksa esa gS] 

This question booklet is divided into two sections: Section-A, 

Section-B

6- [k.M&v esa 70 oLrqfu"B iz’u gS] ftuesa ls fdUgha 35 iz’uksa dk mrj nsuk vfuok;Z 

gSA 35 iz’uksaa ls vf/kd iz’uksa dk mrj nsus ij izFke 35 dk gh ewY;kadu gksxkA 

izR;sd Ikz’u ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k djk;s x;s 

x, OMR mÙkj i=d esa fn, x, lgh fodYi dks uhys @dkys ckWy isu ls izxk<+ 

djsaA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR 

mÙkj i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section - A, there are 70 objective type questions, out of which any 

35 questions are to be answered. If more than 35 questions are 

answered, then only first 35 answer will be evaluated. Each question 

carries 1 mark. For answering these darken the circle with blue/ black 

ball pen against the correct option on OMR Answer sheet provided to 

you. Do not use Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise 

the result will be treated invalid. 



3 
 

7-  [k.M& c esa 20 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA buds vfrfjDr bl [k.M esa 

06 nh?kZ mÙkjh; iz’u fn, x, gSa] ftuesa ls fdUgha 03 iz’uksa ds mÙkj nsuk vfuok;Z 

gSA izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA 

In section - B, there are 20 Short answer type questions, out of which 

any 10 questions are to be answered. Each question carries 2 marks. 

Apart from these, there are 06 long answer type questions, out of 

which any 03 questions are to be answered. Each question carries 5 

marks.  

8- fdlh rjg ds bysDVªkWfud&;a= dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

SECTION - A 

 
iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x;s lgh fodYi dks OMR - ’khV ij fpfUgr djsaA fdUgha 35 

iz’uksa ds mrj nsaA         35x1=35 

Question No.- 1 to 70 have four options, out of which only one is correct. 

You have to mark your selected option, on the OMR – SHEET. Answer any 

35 questions.              35x 1=35 

1- buesa ls dkSu [kjhQ dh Qly gS \ 
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 (A) /kku     (B) xsgw¡ 

 (C) eVj     (D) puk 

 (A) Paddy     (B) Wheat 

 (C) Pea     (D) Gram 

2- buesa ls dkSu ,do"khZ Qly gSa \ 

 (A) pqdUnj     (B) I;kt 

 (C) xsgw¡     (D) usfi;j ?kkl 

 Which of the following is annual crop ? 

 (A) Beet Root    (B) Onion 

 (C) Wheat     (D) Napier grass 

3- buesa ls dkSu nyguh Qly gS \ 

 (A) puk     (B) xsgw¡ 

 (C) eDdk     (D) tkS 

 Which of the following is pulse crop ? 

 (A) Gram     (B) Wheat 

 (C) Maize     (D) Barley 

4- buesa ls dkSu rsygu Qly gS \ 

 (A) twV     (B) xUuk 

 (C) lwjteq[kh     (D) puk 

 Which of the following is oil seed crop ? 

 (A) Jute     (B) Sugar Cane 
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 (C) Sunflower    (D) Gram 

5- buesa ls dkSu NksVk cht okyk Qly gS \  

 (A) xsgw¡     (B) eDdk 

 (C) eVj     (D) ljlks 

 Which of the following is small seeded crop ? 

 (A) Wheat      (B) Maize 

 (C) Pea     (D) Sarson 

6- buesa ls dkSu xgjh tM+ okyh Qly gS \ 

 (A) /kku     (B) vjgj 

 (C) xsgw¡     (D) eDdk 

 Which of the following is deep rooted crop ? 

 (A) Paddy     (B) Arhar 

 (C) Wheat     (D) Maize 

7- buesa ls dkSu e’kkys okyh Qly gS \ 

 (A) gYnh     (B) xsgw¡ 

 (C) eDdk     (D) vkyw 

 Which of the following is condiment crop ? 

 (A) Turmeric    (B) Wheat 

 (C) Maize     (D) Potato 

8- buesa ls dkSu /kku dh yEch vof/k dh fdLe gS \ 

 (A) rqjUrk     (B) lgHkkxh 
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 (C) dkfeuh     (D) lckSj nhi 

 Which of the following is long duration variety of Rice ? 

 (A) Turanta     (B) Sahbhagi 

 (C) Kamini     (D) Sabour Deep 

9- cksjks /kku ds dVkbZ dk le; D;k gS \ 

 (A) vizSy     (B) tuojh 

 (C) Qjojh     (D) ekpZ 

 What is the harvesting time of Boro Rice ? 

 (A) April     (B) January 

 (C) February    (D) March 

10- xjek /kku dh dVkbZ dk le; D;k gS \ 

 (A) tuojh&Qjojh    (B) ekpZ&vizSy 

 (C) twu&tqykbZ    (D) vDVwcj&uoEcj 

 What is the harvesting time of Garma Rice ? 

 (A) January-February   (B) March-April  

 (C) June-July    (D) October-November 

11- buesa ls fdldk mi;ksx foLdqV m|ksx esa gksrk gS \ 

 (A) puk     (B) eVj  

 (C) xUuk     (D) xsgw¡ 

 Which of the following is used in Biscuit industry ? 

 (A) Gram     (B) Pea 
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 (C) Sugarcane    (D) Wheat 

12- buesa ls fdldk mi;ksx i'kq vkgkj esa gksrk gS \ 

 (A) rhlh     (B) xUuk 

 (C) lw;Zeq[kh     (D) eDdk 

 Which of the following is used in Animal feed ? 

 (A) Linseed     (B) Sugarcane 

 (C) Sunflower     (D) Maize 

13- 'kfDreku&2 fdl Qly dk izHksn gS \ 

 (A) puk     (B) eDdk 

 (C) xsgw¡     (D) rhlh 

 Shaktiman-2 is the variety of which crop ? 

 (A) Gram     (B) Maize 

 (C) Wheat     (D) Linseed 

14- d`f"k o"kZ dc lekIr gksrk gS \ 

 (A) vDVwcj&uoEcj    (B) vizSy&ebZ 

 (C) ebZ&twu     (D) fnlEcj&tuojh 

 When Agriculture year ends ? 

 (A) October-November   (B) April-May 

 (C) May-June    (D) December-January 

15- lkblj vjkbfVue ,y fdl Qly dk okuLifrd uke gS \ 

 (A) xUuk     (B) puk 
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 (C) xsgw¡     (D) /kku 

 Cicer arietinum L is the botanical name of which crop ? 

 (A) Sugarcane    (B) Gram 

 (C) Wheat     (D) Rice 

16- ns’kh puk ds cqvkbZ dk le; D;k gS \ 

 (A) 01&30 vDVwcj    (B) 01&30 uoEcj 

 (C) 01&30 fnlEcj    (D) 01& 30 tuojh 

 What is the sowing time of Desi Chana ? 

 (A) 01-30 October   (B) 01-30 November  

 (C) 01-30 December   (D) 01-30 January 

17- Nksys cukus esa fdldk mi;ksx gksrk gS \ 

 (A) xsgw¡     (B) eDdk 

 (C) puk     (D) xUuk 

Which of the following is used for chhola preparation ? 

 (A) Wheat     (B) Maize 

 (C) Gram     (D) Sugarcane 

18- [kjhQ ekSle dc izkjEHk gksrk gS \ 

 (A) tuojh&Qjojh    (B) ebZ&twu 

 (C) tqykbZ&vxLr    (D) vDVwcj&uoEcj 

 When Kharif season starts ? 

 (A) January-February   (B) May-June 
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 (C) July-August    (D) October-November 

19- buesa ls dkSu vUrjorhZ [ksrh dk mnkgj.k gS \ 

 (A) tkS&puk     (B) puk $ rhlh 

 (C) eDdk $ vjgj    (D) xUuk $ fHkaMh 

 Which of the following is example of Inter cropping ? 

 (A) Barley + Gram   (B) Gram + Linseed 

 (C) Maize + Red gram   (D) Sugarcane + Lady finger 

20- buesa ls dkSu fefJr [ksrh dk mnkgj.k gS \ 

 (A) puk $ rhlh    (B) eDdk $ vkyw 

 (C) xUuk $ vkyw    (D) eDdk $ ewax 

 Which of the following is example of Mixed cropping ? 

 (A) Gram + Linseed   (B) Maize + Potato 

 (C) Sugarcane + Potato  (D) Maize + Green Gram 

21- buesa ls dkSu cgqeatyh [ksrh dk mnkgj.k gS \ 

 (A) xUuk $ ewax    (B) puk $ rhlh 

 (C) Tokj $ vjgj    (D) eDdk $ vjgj 

 Which of the following is an example of multi storied cropping ? 

 (A) Sugarcane + Green Gram (B) Gram + Linseed 

 (C) Sorghum + Red gram  (D) Maize + Red gram 

22- vEyh; e`nk dk ih- ,p- eku fdruk gksrk gS \ 

 (A) 7      (B) 7 ls vf/kd 
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 (C) 7 ls de     (D) buesa ls dksbZ ugha 

 What is the P.H. value of Acidic soil ? 

 (A) 7      (B) More than 7 

 (C) Less than 7    (D) None of these 

23- xsgw¡ Qly dh dqy ty vko’;drk fdruh gksrh gS \ 

 (A) 28-0 ls0eh0    (B) 200 ls0eh0  

 (C) 300 ls0eh0    (D) 500 ls0eh0  

 What is the total water requirement of wheat crop ? 

 (A) 28.0 cm    (B) 200 cm 

 (C) 300 cm     (D) 500 cm 

24- {kkjh; e`nk dk fofu;e lksfM;e izfr’kr fdruk gksrk gS \ 

 (A) 15 ls vf/kd    (B) 15  

 (C) 15 ls de    (D) buesa ls dksbZ ugha 

 What is the exchangeable sodium percentage in alkali soil ? 

 (A) More than 15    (B) 15 

 (C) Less than 15    (D) None of these 

25- vEyh; e`nk ds lq/kkj ds fy, buesa ls fdldk mi;ksx fd;k tkrk gS \ 

 (A) E;wjsV vkWQ iksVk’k   (B) pwuk 

 (C) flaxy lqij QkWLQsV   (D) ;wfj;k 

 Which of the following is used for reclamation of Acidic soil ? 

 (A) Muriate of Potash   (B) Lime 
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 (C) Single Super Phosphate  (D) Urea 

26- buesa ls dkSu fof/k eDdk dh flapkbZ ds fy, T;knk mi;qDr gS \ 

 (A) csflu fof/k    (B) psd csflu fof/k 

 (C) cksMZj fof/k    (D) dwaM fof/k 

 Which of the following method is most suitable for irrigation in maize? 

 (A) Basin method   (B) Check Basin method 

 (C) Boarder method   (D) Furrow method 

27- buesa ls dkSu [kjhQ ekSle dk [kjirokj gS \ 

 (A) taxyh pkSykbZ    (B) yglqvk 

 (C) taxyh tbZ    (D) ihyh lsath 

 Which of the following is Kharif season weed ? 

 (A) Wild Amaranthus   (B) Lahasua 

 (C) Wild Oat    (D) Peeli Senji  

28- buesa ls cgqo"khZ; [kjirokj dkSu gS \ 

 (A) fo"k [kiM+k    (B) /krqjk 

 (C) iRFkj pV~Vk    (D) fiijh 

 Which of the following is Perennial Weed ? 

 (A) Vish Khapada   (B) Dhatura 

 (C) Patthar Chatta   (D) Pipari 

29- buesa ls dkSu ,d cht&i=h [kj&irokj gS \ 

 (A) eksFkk     (B) cFkqvk 
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 (C) edks;     (D) buesa ls dksbZ ugha 

 Which of the following is Monocotyledonous weed ? 

 (A) Motha     (B) Bathua 

(C) Makoy     (D) None of these 

30- buesa ls dkSu ruk ls iSnk gksus okyk [kjirokj gS \ 

 (A) fgj.k[kqjh     (B) eksFkk 

 (C) iRFkj pV~Vk    (D) nwc 

 Which of the following weed reproduced by stem ? 

 (A) Hirankhuri    (B) Motha 

 (C) Pathar Chatta   (D) Dub 

31- buesa ls dkSu pkSM+h iÙkh okyk [kjirokj gS \ 

 (A) cFkqvk     (B) nwc 

 (C) eksFkk     (D) buesa ls dksbZ ugha 

 Which of the following is broad leaved weed ? 

 (A) Bathua     (B) Dub 

 (C) Motha     (D) None of these 

32- C;wVk Dyksj D;k gS \ 

 (A) QQwanuk’kh    (B) dhVuk’kh  

 (C) [kjirokjuk’kh    (D) moZjd 

 What is butachlor ? 

 (A) Funjicide    (B) Insecticide 
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 (C) Weedicide    (D) Fertilizer 

33- buesa ls dkSu [kjirokj eDdk Qly esa gksrk gS \ 

 (A) HkaxM+k     (B) lkaok 

 (C) edks;     (D) cuxsgw¡ 

 Which of the following weed found in Maize crop ? 

 (A) Bhangda    (B) Sawan 

 (C) Makoy     (D) Bangehu 

34- uhy gfjr 'kSoky dk iz;ksx fdl Qly esa gksrk gS \ 

 (A) puk     (B) eDdk 

 (C) /kku     (D) eVj 

 Blue green alge is used in which crop ? 

 (A) Gram     (B) Maize 

 (C) Rice     (D) Pea 

35- buesa ls dkSu Qly gjh [kkn ds fy, mi;ksxh gS \ 

 (A) eDdk     (B) Tokj 

 (C) mM+n     (D) xUuk 

 Which crop is useful for Green manuring ? 

 (A) Maize     (B) Sorghum 

 (C) Black Gram    (D) Sugarcane 

36- oehZ dEiksLV esa fdldk mi;ksx gksrk gS \ 

 (A) lhlk     (B) dspqvk 
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 (C) yksgk     (D) rkEck 

 Which of the following is used for vermi compost ? 

 (A) Lead     (B) Earthworm 

 (C) Iron     (D) Copper 

37- lhekUr fdlku ds tksr dk vkdkj ---------------- gksrk gSA 

 (A) 1 ls 2 gs0    (B) 1 gs0 rd 

 (C) 2 ls 4 gs0    (D) 4 gs0 ls vf/kd 

 Marginal farmer has land holding of …………. 

 (A) 1 to 2 hectare   (B) Up ot 1 hectare 

 (C) 2 to 4 hectare   (D) More than 4 hactare 

38- lgdkjh mUur [ksrh esa Hkwfe dk LokfeRo -------------- gksrk gSA 

 (A) O;fDrxr     (B) lkewfgd 

 (C) (A) ,oa (B) nksuksa   (D) buesa ls dksbZ ugha 

 In Co-operative better farming ownership of land is ………….. 

 (A) Individual    (B) Collective 

 (C) Both (A) and (B)   (D) None of these 

39- buesa ls dkSu miks".k dfVcU/kh; tyok;q dk Qy gS \ 

 (A) ve:n     (B) dsyk 

 (C) iihrk     (D) vaxwj 

 Which of the following is Sub tropical fruit ? 

 (A) Guava     (B) Banana 
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 (C) Papaya     (D) Grape 

40- buesa ls dkSu xzh"edkyhu lCth gS \ 

 (A) QwyxksHkh     (B) djSyk 

 (C) vkyw     (D) VekVj 

 Which of the following is summer season vegetable ? 

 (A) Cauliflower    (B) Bittergourd 

 (C) Potato     (D) Tomato 

41- buesa ls dkSu tM+ okyh lCth gS \ 

 (A) ewyh     (B) VekVj 

 (C) cSxu     (D) eVj 

 Which of the following is root vegetable ? 

 (A) Radish     (B) Tomato 

 (C) Brinjal     (D) Pea 

42- VekVj dk [kkus ;ksX; Hkkx ------------------ gSA 

 (A) ruk     (B) Qy 

 (C) Qwy     (D) cht 

 Edible portion of Tomato is …………. 

 (A) Stem     (B) Fruit 

 (C) Flower     (D) Seed 

43- buesa ls dkSu e’kkyk okyh Qly gS \ 

 (A) thjk     (B) vkyw 
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 (C) cSaxu     (D) VekVj 

 Which of the following is spice crop ? 

 (A) Cumin     (B) Potato 

 (C) Brinjal     (D) Tomato 

44- buesa ls dkSu yo.kh; e`nk ds fy, mi;qDr Qy gS \ 

 (A) csy     (B) vukukl 

 (C) vathj     (D) vk¡oyk 

 Which of the following is suitable fruit for salt affected soil ? 

 (A) Bael     (B) Pineapple 

 (C) Fig     (D) Aonla 

45- buesa ls dkSu Qyksa dk jktk gS \ 

 (A) vke     (B) ve:n 

 (C) dsyk     (D) lsc 

 Which of the following is king of fruits ? 

 (A) Mango     (B) Guava 

 (C) Banana     (D) Apple 

46- ekyng fdl Qy dh fdLe gS \ 

 (A) dsyk     (B) csj 

 (C) vke     (D) ve:n 

 Maldah is the variety of which crop ? 

 (A) Banana     (B) Ber 
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 (C) Mango     (D) Guava 

47- dSjhdslh fdl Qy dk dqy ¼family½ gS \ 

 (A) ve:n     (B) iihrk 

 (C) dsyk     (D) vukukl 

 Caricaceae is the family of which fruit ? 

 (A) Guava     (B) Papaya 

 (C) Banana     (D) Pneapple 

48- dqxZ guh M~;w fdl Qy dh fdLe gS \ 

 (A) iihrk     (B) ukfj;y 

 (C) dsyk     (D) lsc 

 Coorg Honey Dew is the variety of which fruit ? 

 (A) Papaya     (B) Cononut 

 (C) Banana     (D) Apple  

49- eSfjVslh fdl Qy dk dqy ¼family½ gS \ 

 (A) iihrk     (B) ve:n 

 (C) dsyk     (D) vke 

 Myrtaceae is the family of which fruit ? 

 (A) Papaya     (B) Guava 

 (C) Banana     (D) Mango 

50- buesa ls fdldk mi;ksx ckyksa dk rsy cukus esa gksrk gS \ 

 (A) vke     (B) vk¡oyk 
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 (C) ve:n     (D) dsyk 

 Which of the following fruit is used for hair oil ? 

 (A) Mango     (B) Aonla 

 (C) Guava     (D) Banana 

51- pUnzladj fdl Qy dh fdLe gS \ 

 (A) ukfj;y     (B) vk¡oyk 

 (C) csy     (D) csj 

 Chandra Shankar is the variety of which fruit ? 

 (A) Coconut    (B) Aonla 

 (C) Bael     (D) Ber 

52- buesa ls fpuksiksfM,lh dqy dk ikS/kk dkSu gS \ 

 (A) xktj     (B) pqdUnj 

 (C) vkyw     (D) VekVj 

 Which of the following plant is from Chenopodiaceae family ? 

 (A) Carrot     (B) Beet root 

 (C) Potato     (D) Tomato 

53- buesa ls fdldk oSKkfud uke lksysue V~;wcsjksle ,y gS \ 

 (A) xktj     (B) ewyh 

 (C) vkyw     (D) VekVj 

 Which of the following crop has scientific name Solanum tuberosum L ? 
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 (A) Carrot     (B) Radish 

 (C) Potato     (D) Tomato 

54- buesa ls iwlk jsM fdl Qly dh fdLe gS \ 

 (A) vkyw     (B) I;kt 

 (C) ewyh     (D) xktj 

 Which of the following crop has variety Pusa Red ? 

 (A) Potato     (B) Onion 

 (C) Radish     (D) Carrot 

55- buesa ls fdldks foyk;rh cSxu dgrs gS \ 

 (A) VekVj     (B) vkyw 

 (C) fepZ     (D) QwyxksHkh 

 Which of the following is Known as Bilayati Baigan ? 

 (A) Tomato     (B) Potato 

 (C) Chilli     (D) Cauliflower

56- jktsUnz lksfu;k fdldh fdLe gS \ 

 (A) vkyw     (B) gYnh 

 (C) fepZ     (D) cSxu 

 Rajendra Sonia is the variety of which crop ? 

 (A) Potato     (B) Turmeric 

 (C) Chilli     (D) Brinjal 

57- lqjfHk fdl Qly dh fdLe gS \ 
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 (A) /kfu;k     (B) vnjd  

 (C) vkyw     (D) VekVj 

 Surabhi is the variety of which crop ? 

 (A) Coriander    (B) Ginger 

 (C) Potato     (D) Tomato 

58- buessa ls dkSu Qly Qcslh dqy dk gS \ 

 (A) esFkh     (B) /kfu;k 

 (C) gYnh     (D) vnjd 

 Which of the following crop is from fabaceal family ? 

 (A) Fenugreek    (B) Coriander 

 (C) Turmeric    (D) Ginger 

59- buesa ls dkSu e’kkyk okyh Qly gS \ 

 (A) QwyxksHkh     (B) vkyw 

 (C) eaxjSyk     (D) VekVj 

 Which of the following is spice crop ? 

 (A) Cauliflower    (B) Potato 

 (C) Mangaraila    (D) Tomato  

60- buesa ls dkSu xsank dh O;olkf;d fdLe gS \ 

 (A) iwlk clarh    (B) iwlk lnkcgkj 

 (C) iwlk peRdkj    (D) iwlk uUgk 

 Which of the following is commercial variety of Marigold ? 
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 (A) Pusa Basanti    (B) Pusa Sadabhar 

 (C) Pusa Chamatkar   (D) Pusa Nanha 

61-  xsank Qwy dk mi;ksx fd;k tkrk gS & 

 (A) ekyk     (B) xqynLrk 

 (C) iwtk     (D) lHkh 

 Use of Marigold flower is/are …………… 

 (A) Garland    (B) Bouquet 

 (C) Worship    (D) All 

62- fuEufyf[kr esa dkSu ikS/kk lxa/kh; ikS/kk gS \ 

 (A) xqykc     (B) xqynkmnh 

 (C) iksnhuk     (D) Mgfy;k 

 Which of the following Plant is aromatic Plant ? 

 (A) Rose     (B) Chrysanthemum 

 (C) Mentha     (D) Dahlia 

63- XySfM;ksyl fdl dqy dk ikS/kk gS \ 

 (A) jkstslh     (B) bfjMslh 

 (C) :VSlh     (D) dEiksftVh 

 Gladiolus is the flower of which family ? 

 (A) Rosaceae    (B) Iridaceae 

 (C) Rutaceae    (D) Compositeae 

64- xqynkmnh ds ldj dks fdl ekg esa yxk;k tkrk gS \ 
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 (A) Qjojh&ekpZ    (B) flrEcj & vDVwcj 

 (C) twu&tqykbZ    (D) vizSy&ebZ 

 Sucker of Chrysanthemum is Planted in which month ? 

 (A) February-March   (B) September-October 

 (C) June-July    (D) April-May 

65- buesa ls dkSu ^^iq"iksa dk jktk** gS \ 

 (A) xsank     (B) xqykc 

 (C) XySfM;ksyl    (D) xqynkmnh 

 Which of the following is “King of flowers” ?  

 (A) Marigold    (B) Rose 

 (C) Gladiolus    (D) Chrysanthemum 

66- buesa ls dkSu xqydan ds fy, mi;qDr gS \ 

 (A) XySfM;ksyl    (B) xqynkmnh 

 (C) xqykc     (D) xsank 

 Which of the following is suitable for Gulkand ? 

(A) Gladiolus    (B) Chrysanthemum 

(C) Rose     (D) Marigold 

67- buesa ls dkSu O;fDrxr lEidZ dk mnkgj.k gS \ 

 (A) xg̀ ,oa QkeZ Hkze.k   (B) iz{ks= fnol 

 (C) Vsyhfotu    (D) jsfM;ks 

Which of the following is example of Personal contact ? 
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(A) Home and farm visit  (B) Farm Day  

(C) Television    (D) Radio 

68- buesa ls dkSu n"̀;&JC; midj.k gS \ 

 (A) Vsyhfotu    (B) jsfM;ks 

 (C) pkVZ     (D) iksLVj 

 Which of the following is Audio-Visual Aids ? 

 (A) Television    (B) Radio 

 (C) Chart     (D) Poster 

69- buesa ls dkSu tsyh ds fy, mi;qDr gS \ 

 (A) dVgy     (B) csj 

 (C) ve:n     (D) dsyk 

 Which of the following is suitable for Jelly ? 

 (A) Jack fruit    (B) Ber 

 (C) Guava     (D) Banana 

70- buesa ls dkSu fpIl ds fy, mi;qDr gS \ 

 (A) vkyw     (B) vke 

 (C) ve:n     (D) csj 

 Which of the following is suitable for chips  

 (A) Potato     (B) Mango 

 (C) Guava     (D) Ber 

Part- II 
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Short answer type questions 

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSaA          (10x2=20) 

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      (10x2=20) 

1- ewaxQyh ds cqvkbZ dk le; D;k gS       2 

What is the sowing time of Groundnut ? 

2- rksjh@ljlks ds mi;ksxksa dks fy[ksaA       2 

Write uses of Tori/Sarson 

3- xUuk ds nks fdLeksa dks fy[ksaA       2 

Write two varieties of Sugarcane. 

4- flrEcj vjgj dh nks fdLeksa ds uke fy[ksaA     2 

Write two names of varieties of September Arhar. 

5- cgqQlyh; iz.kkyh D;k gS \       2 

What is multiple cropping system ? 

6- Qly i)fr D;k gS \        2 

What is Cropping Pattern ? 

7- yo.kh;&{kkjh; eǹk;saa D;k gS \       2 

What is saline-alkali soils ? 

8- e`nk vEyrk ds nks izHkkoksa dks fy[ksaA      2 
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Write two effects of soil acidity. 

9- vf/kd pwuk mi;ksx ds feV~Vh ij nks izHkkoksa dks fy[ksaA    2 

Write two overliming effect on soil. 

10- tSfod [ksrh ds fy, mi;qDr nks dhVuk’kh ,oa QQw¡nuk’kh dk uke fy[ksaA 2 

Write names of two insecticide and funjicide used in organic farming. 

11- tSfod [ksrh ds nks ykHkksa dks fy[ksaA       2 

Write two benefits of organic farming. 

12- dye ca/ku D;k gS \         2 

What is Grafting ? 

13- ySafxd izo/kZu ds nks gkfu;ksa dks fy[ksaA      2 

Write two disadvantages of sexual propagation. 

14- uhacw ds mi;ksxksa dks fy[ksaA        2 

Write uses of citrus. 

15- ftehdUn ds mi;ksxksa dks fy[ksaA       2 

Write uses of Elephant foot. 

16- dn~nw oxhZ; lfCt;ksa ds nks uke fy[ksaA      2 

Write two names of cucurbitaceae vegetable. 

17- lqxaf/kr rsy ds fy, mi;qDr nks Qwyksa ds uke fy[ksaA    2 

Write the names of two flowers suitable for scented oil. 

18- XySfM;ksyl ds nks fdLeksa ds uke fy[ksaA      2 

Write two names of varieties of Gladiolus. 
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19- nks vkS"k/kh; ikS/kksa ds uke fy[ksaA       2 

Write names of two medicinal plants. 

20- nks JC; midj.kksa ds uke fy[ksaA       2 

Write names of two Audio Aids. 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj 

nsaA izR;sd iz’u ds fy, 5 vad fu/kkZfjr gSaA     (3x5=15) 

Question no. 21 to 26 are Long answer type questions. Answer any 3 of 

them. Each question carries 5 marks.     (3x5=15) 

21- eDdk dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsa %    5 

¼a½ ladj izHksn     ¼b½ feV~Vh  

¼c½ [ksr dh rS;kjh    ¼d½ cht nj   

¼e½ flapkbZ ,oa ty izca/ku 

Describe the cultivation of Maize under following heads : 

(a)  Hybrid Varieties   (b) Soil  

(c) Land Preparation   (d) Seed Rate  

(e) Irrigation and water management  

22- vjgj dh [ksrh dk fuEufyf[kr ’kh"kZdksa esa o.kZu djsaA    5 

¼a½ oSKkfud uke     ¼b½ [kjhQ Qly gsrq cht nj  

¼c½ cksus dh nwjh    ¼d½ moZjd   
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¼e½ mit 

Describe the cultivation of Red gram (Arhar) under following heads: 

(a) Scientific name   (b) Seed Rate for Kharif  

(c) Planning distance   (d) Fertilizer  

(e) yield  

23- fcgkj jkT; ds vkfFkZd fodkl esa d`f"k dh Hkkxhnkjh dk o.kZu djsaA  5 

Describe the contribution of agriculture in economic development of 

Bihar. 

24- dsyk dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djsa %    5 

¼a½ jksikbZ dk le;    ¼b½ [kkn ,oa moZjd   

¼c½ flapkbZ     ¼d½ [kjirokj fu;a=.k 

¼e½ mit 

Describe the cultivation of Banana under the following heads: 

(a) Planting time     (b) Manure and fertilizer 

(c) Irrigation     (d) Weed Control 

(e)  Yield 

25- I;kt dh [ksrh dk fuEufyf[kr 'kh"kZdksa esa o.kZu djs %    5 

¼a½ tyok;q      ¼b½ mUur fdLesa  

¼c½ [ksr dh rS;kjh    ¼d½ [kkn ,oa moZjd  

¼e½ flapkbZ 

Describe the cultivation of Onion under the following heads: 
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(a) Climate     (b) Improved varities  

(c) Land Preparation   (d) Manure and fertilizer  

(e) Irrigation 

26- xsank dh oSKkfud [ksrh dk o.kZu djsaA     5 

Describe the scientific cultivation of Marigold. 

 

 

 


